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Someone @n@e office.

J The office was just to be (—:Ear(ed.
-  The office was cleaned =S~
; 0 The office ' was being cleaned~

Q The office wasjust\cleanecu
e

% Change the given active voice sentence into passive voice

Ans -4
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Find out which part of the sentence has an error.

My brother’s friend’s father advised him not to go out today.

<M brother’ at@(

** Advised him not
**To go out today
**No error.
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Concerns are growing _ O\ren (1)
global coffee supplies .~ — (2)
tough the travel restrictions regarding
coronavirus, that are being

(3) In Vietnam to tackle the

spread of the aggressive Delta variant of
Covid-19.Supply chains (4)

disrupted in Vietham, which is the world’s
second-biggest exporter of coffee. The
Vietnam Coffee-Cocoa Association has urged
the government to ease restrictions as traders
are reportedly struggling

(5) beans to ports for
export amid the restrictions.

Find the correct
option for the
given blank space
1.

= QOver
" From
= With
n By

Ans :- over

/
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Concerns are growing
global coffee supplies

L QQ

| o
(2)

tough the travel restrictions regarding
coronavirus, that are being
IS, (

In Vietham to tackle the

_ - spread of the aggressive Delta variant of
°-- Covid-19.Supply chains

(4)

which is the world’s second-biggest exporter of
coffee. The Vietham Coffee-Cocoa Association
has urged the government to ease restrictions

disrupted in Vietnam,

as traders are reportedly struggling

(5)

beans to ports for

« _ export amid the restrictions.
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Find the correct
option for the
given blank space
2.

= But for. >
el

= EXcept
D 7/
= without

)

Ans :- due to
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Concerns are growing (1)
global coffee supplies (2)
tough the travel restrictions regarding
coronavirus, that are being

(3) In Vietnam to tackle the
spread of the aggressive Delta variant of Covid-
19.Supply chains (4)
disrupted in Vietnam, which is the world’s |
second-biggest exporter of coffee. The Viet r@}
Coffee-Cocoa Association has urged the ‘
government to ease restrictions as traders are\q\
reportedly struggling (5)
beans to ports for export amid the restrictions.

Find the correct
option for the
given blank space
3.

Explained
IELGl)Y
Imposed
sequestered

Ans :- imposed
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Concerns are growing

global coffee supplies _

tough the travel restrictions regarding option for the

coronavirus, that are being given blank space
©) in Viet tackle the 4.

(2) Find the correct

Bed spread of the aggressive Dglta vari @v’id-

19.Supply chains (4) = Had been><
disrupted in Vietnam, which is the world’s ave been

second-biggest exporter of coffee. The Vietham [ s Were being
Coffee-Cocoa Association has urged the Has been
government to ease restrictions as traders are ' ’

reportedly struggling (5)
beans to ports for export amid the restrictions.

Ans :- have been
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Concerns are growing _ /21~ (1)

global coffee supplies (2) Find the correct
tough the travel restrictions regarding option for the

coronavirus, th whéing . given blank space

____(3____ " inVietnam totackle the [ESE
Bl Spread of the aggress aggressive Delta variant of Covid-

19.Supply chains = Transporting
disrupted in Vietnam, which Is the world’s = To transport
second-higgest exporter of coffee. The Vietnam EEEINIRIE N eJelalle
Coffee-Cocoa Association has urged the % Transported
governmenm@tlons as traders are

reportedly struggling — (5) Ans :- to transport
beans to ports for export amid the restrictions.
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Improve the bracketed/underlined part of the given sentence.

The President said that we need to do something about
the (evacuation) of the stranded people in Afghamstan
L Gtrvoy e

» Accretion  — O]W e -

» No improvement

> SpIke —7 (70 LA €57
» Resurge

S

Ans :- 2
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iImprove the bracketed/underlined part of the given

sentence. i o (50\,4( LT

'd rather stay at home than/(to go out tonight).

= No improvement

" Goouttonight = _——
" Going out tonight

" To going out tonight

Ans :- go out tonight
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Find the synonym :-
Gullible
ffinocent 7"
redulous
v'Perceptive
v'Smart
Ans :-tcredulous
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Find the opposite :-
Conceal
oForbear
e DivulM
O Obscur_e_w /C{/n (/Zu/?)
oShelter
Ans :- divulge
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Indolence

| -5

" Frivolous —)

Ans :- diligence

= Sloth — (Qw/ QV‘Q(/%'V(
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Arrange the statements in correct
| sequence 1.QSPR_—
2. PQRS ><
(P) Were found on the set—— 3.5RQP _><
@ )§ 4.RPS
(Q) Government officials-confirmed )l(
Ans :- 1
| (R) Of the movie Rust |last week
(S) That live bullets
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Direct and indirect speech

The little boy said to mother, “l a ying with my new toys

today.” (?7,,_ . Low)

~< | »The little bo@ mother that he played with his new toys that

day.
» The little boy told his mother that | am playi,ngm my new toys

today.
» The little boy said to his mother that he has been\@ing with his new

toys that day.
» The little boy told his mother that hg was playing-with his new toys
that day.
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Find out which part of the sentence has an error and
select the appropriate option.

Jb- ¢
Australia wa@ developed country that refused to increase
its 2030 carbornrreduction targets. -

» Australia was one of developed country
»That refuses to increase its

» 2030 carbon reduction targets

»No error

Ans -1
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\
(P)Abdalla Hamdok as prime 1) SQPR b
minister _ 2)PQRS
(Q) And release all the polltlcal m
detainees —
(R) Sudan’s military Is planning 4) PQSR 3
to reinstate B -
(S) Under a deal to end the Ans :- 3
deadly unrest in the country
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Play ducks and drakes

oTo be bitterly hostile about something
o To tackle a problem in a bold and direct fashion

oTo make a supreme effort —— o

qTo behave recklessly—
=R /

Ans -4
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Find the meaning of the given idiom :-

/
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Find the correct word among the given options which is
nearest in meaning to the given word.

Abundant

=-- | <“*Meager
| +*Depleted
‘*Sparse

*Surplus

Ans:- surplus
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Select the most appropriate word that means the same
as the group of words given.

A short story with a moral, usually with animals as
characters

Fable |
>0de — Ly M (C /7;0 P7

»Hymn

>Parody —/ WW(/(V\%
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% Select the incorrectly spelt word.

Dilemma
| ** Convenience
: ** Guarantee
s ANS - a

/
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Z A person who Is unduly anxious about
| his/her health
+< | Disciplinarian— Og/ﬂf/(/}&mﬁ
~ 4 | (antiquarian
aIitarian——@
(Valetudinarian
\
Ans :-4
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Select the misspelt word

dvirtually
Jdimmediately
JEventually

dinfinitly N
Ans ;- 4
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Z Select the correct word to fill in the given blank space.

Brazil has lost not only a legend in football, but also
faue ) Zad
-Trulymsplratlonal </

= true inspirationa

Ans - 2?2
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Select the correct word to fill in the given blank space.

The climate crisis will create two classes: those who
can -and those who cannot.

[ _
o Fle o N 07(/‘/\4

éFIee g

o Rime _ /CC //WS

o Squall

) (g
Ans - 2
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